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Question Solution/ Marking Scheme Answer Marks
1 (@ 5 1
(b) {5, 7,9} 1
(c) {1,3,5, 7,9} 1
2 (@) BL: 3a+2=x @) X—2 2
3
_ 2
() BL: f7(5) (b) 1
3 @ -7 1
] X—=7
(b) B2: G(T)+5 (b) 2x—9 3
X—7
Bl: g (X)=—
9 (x) 3
4 B2: x=3-137 or x=-0-637 x=3-137
and 3
Bl: 2x*-5x-4=0 x=-0-637
5 B2: 3a+38=—-4 and (3x)(38)=-18
X? +4x—18=0 3
Bl: a+ﬂ=—% and oaffi=-2
6 m =4
Bl: m=4 or t=3 2
and
t=3
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Question Solution/ Marking Scheme Answer Marks
! B2: x=2 and x=—ﬂ @ —-1-33 4
3 ——<X<2
3 3
Bl: f(x)=3x>-2x-8<0
8
B2: 5™ = 5% or 5" =54
3 3
a1 3(5™)(5) or 5™ or 5%
" or 5™ (15-10)= 625
9 y
B2: 2= =3(4 —
Iy 3 or y=3(4-Y)
y=3 3
BL: logs—— or logs3 or 3
4-y
10 B2: 2log,x=log,4° or x*=4?
log, 4°
B1: log, x=~2
log, x
11 (@ 3 1
T, =5(2)-2(2)° -3
b) Bl: (b) -4 2
[d=S, -S,-S]]
12
B1l: §:4_q
q 6 q=3, -3 2
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Question Solution/ Marking Scheme Answer Marks
13
2
(@) ~3 1
2(1)
(b) Bl: Sn= > o © 5
1() :
3
14 (@)
logy, k = (~logyy3)x +logy, k 1

(b) BL: logy, k=-1 (b) %@0.1 2
15

B3: 22+4m = 42 or 22+4m = —42 m=5

1 and
B2: E\(2+3+5m)—(—15+m—2)\=21 4
m = —16

Bl: (2+3+5m) or (-15+m —2)
16 B2:

X:+6x+9+ Y’ —8y+16:4( X*-12x+36+’ +4y+4)

B - X +y° -18x+8y+45=0 | 3

JO3 4 (y—4)? =2/ (x=6)2 + (y+2)?
17

B3: 25(2)+25+25

B2: 6=2 10 4

1 2
BL: 2(25)'0=625
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Question Solution/ Marking Scheme Answer Marks
18 i
a) AB = 9i +12] 1
(@) (12) @ 9i+12]j
(b) B2 : \E\ — 34 =5
1(3 1. .
(b) —( )@ = (3i+4j) 3
Bl: AC == =
)2
19
a) Bl: OB=0A+AB — (11
(a) (a) o|3=(7j 9
(b) B(ll,?) 1
20 70 2
B2: 4g=—-
9=15-WP) p=7—4q 3
70 2
Bl.: —-
TS
21 . _ 2
B2: y—1= §(x—3) )
y= §x—1 3
BL: Mygmenciouir = 2
. perpendicular — 3
22 15
a —_—
@ 1
: _ 1 _15 8
(b) B1l: cotA = 15 or tanA_8 (b) T 5
8
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Question Solution/ Marking Scheme Answer Marks
2 - 2
3 (a) B1: @ _ [5—7j @ -5
dx 2
(b) B1: sx=p or Sy=-5(p) (b) - 5p 2
24 B2: 3~27r=87r(5)-%
0-08cms™ 3
Bl d—A:87rr
dr
25
(@ -4 1
(b) B2: 8+ m[4-2]=12
2 4 —
BL: [ f(x)dx+ [ f(x)dx =8 (k) m=2 3
END OF MARKING SCHEME
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